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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
et fraTfered Ao wepies e fa
(a) In Germany, Mercantilism was known
as

( Fill in the blank )
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(2) (3)

(b) Write the meaning of ‘single-tax system’ (/)  Mention one limitation of Say’s law of
as advocated by the physiocrats. markets.
AFROATTRCA  CRTO] TN ‘GF9-F9 IRTN'I 5’3 351 R 9B1 SvRaer Say 41 |
o2 for |
{g) Name the economist who combined and
(c) David Ricardo was a contemporary of modified the teaching of Smith, Malthus
, with whom he had a healthy and Ricardo.
exchange of ideas. '
" ( Fill in the blank ) Tol, AT W WS PRETR R
Gfge w1 Hefde iz ?
cfes Rers’ 3 TR iR, I@
oTee (o€ ogrE SR RivTy SR |
(4R 52 [T 1) 2. Answer the following questions in brief : 2x4=8
oo il TR oY Ted fa

(d) Who started the Neo-Malthusian

: Stat M tilists ideas
Movement in England in 1820’s? (@ state the itwo SReRILLAD

approved by Keynes.
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(e} The term was replaced by the term (5] Distirguish between Ricardian &nd

‘economics’ in the late 19th century.
( Fill in the blank )

Marxian theory of value.

R e TEf 7 o T e B

@H Soe MR oEere WY’ .
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(4N ST <@+ ) (c) State the Ricardian theory of rent.
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%] (5)

(d) Accordix"xg Fo Adam S.rnith, “Divisif:)n of (d) Explain the two kinds of check to
labour is limited mainly by the size of population growth  suggested by
the market”. Explain in brief. Malthis.

o PR we uw Reed e IwEE s o i SR FrEe Sen g
SRR a1 FERE | 5L 0 0 T 40 |

(e How did Ricardo discuss the

3. Answer any three of the following questions : . relationship between rent and price?
5x3=
PR @S AT AF WE AHS FE

o] :

epcared R e fefer Tee frn o
(a) Explain the main tenets  of

Mercantilism.
4. Answer any three of the following questions :
SRR T51 SR W0 47 | 10x3=30

ware T e R e fofom Te it -

(b) Distinguish between Mercantilists and

: : : Hivst B
Physiocratic ideas. (a) Discuss the physiocratic ideas of the

following :
TRISRRT S e ATy Tore A1y woe a1 AFISIMA YHATPHR SCAA 41 :
e a1 | '

(i) Economic table

- - a Iaqs L
(c) Distinguish between Smithian concept
of  <alue-in-use’ and  ‘value-in- (i) Laissez-faire
SRp RerzErsam T
PR rafe w0 we R F0'3 @R

iij) Net product
ErS N Ay 40 | ¢
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(b)

(c)

(d)

A9/205

(6)

(iv) Taxation

9 S

(v) Trade
iy

Critically evaluate the Malthusian
theory of gluts.

WWW@QWWWWWW
4l |

“There was nothing original in the ideas
of J. S. Mill and that he just re-stated
the ideas of classical school.” Examine
the statement.

“c&. @b, fIER ARIPTHRA Al CRferrel 7R,
(SCACS I e wYAIfed OPHR %7
1o e 17 SfECo! 3w 3491 |

What is surplus value? How did Marx
establish a relationship between
surplus value and technological
progress along with economic develop-
ment? Explain in detail.
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( Continued )
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(7))

(e) Discuss the Say’s law of markets. How

did Malthus oppose Say’s law of
market?

'3 /R REGT Sawn =1 I=Aw
@R (6'F T f[fET «fS seifs wfizfee 2

Write a critical note on Smithian theory
of distribution.
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